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Instructions

XYZ organization got into the business of delivering groceries te.home at the beginning of the last month. They have a two-day delivery
promise. However, their deliveries are unreliable. An order booked-on-a particular day may be delivered the next day or the day after. If the
order is not delivered at the end of two days, then the order is declared-as-ost at the end of the second day. XYZ then does not deliver the
order, but informs the customer, marks the order as lost) returns the payment and pays a penalty for non-delivery. The following table
provides details about the operations of XYZ for a week\of the last month. The first column gives the date, the second gives the
cumulative number of orders that were booked up-to and including-that day. The third column represents the number of orders delivered
on that day. The last column gives the cumulative number of orders that were lost up to and including that day. It is known that the
numbers of orders that were booked on the 11th, 12th, and 13th of the last month that took two days to deliver were 4, 6, and 8
respectively

Day Cumilative orders booked |Orders delivered on day |Cumilative orders lost
13th 219 11 91
14th 249 27 92
15th 277 23 94
16th 302 11 106
17th 327 21 118
18th 332 13 120
19th 337 14 129
Question 1

On which of the followinig days was the number of orders booked the highest?

A 12th
B 15th
C 13th

D 14th

Answer: C

Explanation:
The cumulative orders booked by 19th are 337 and that of 18th are 332=> No. orders.booked on 19th are 5

Similarly we can find the orders booked on that day till 14th.
Number of orders lost that were booked on 12th = Cumulative orders lost till"14th-Cumulative erders lost till 13th =92-91=1
Similarly, the number of orders lost till 17th can be found out.

Number of orders delivered on 13th are 11 out of which 4 are orders which were booked in.11th so, 7 must be the orders which were
booked on 12th.

Similarly, we can find the orders which took 1day and 2 days to get delivered till[17th.

Date |Order Placed 1-day Delivery | 2-day Delivery Lost Delivery done on the date

11 4

12 14 7 6 1

13 31 21 8 2 11

14 30 15 3 12 27

15 28 8 8 12 23

16 25 13 10 2 11

17 25 3 13 9 21

18 5 1 13

19 5 14

Now, total number of orders booked on 12th will be 7+6+1=14.
The total number of orders placed on 13th = 21+8+2 = 31

FRom the table we can determine that among options, number of orders booked on 13th are maximum.

Downloaded from cracku.in


https://cracku.in

Question 2

The delivery ratio for a given day is defined as the ratio of the number of orders booked on that day which are delivered on the next day
to the number of orders booked on-that day which are delivered on the second day after booking. On which of the following days, was
the delivery ratio the highest?

A 15th
B 16th
C 13th

D 14th

Answer: D

Explanation:
The cumulative orders booked by 19th are 337 and that of 18th are 332=> No. orders booked on 19th are 5

Similarly we can find the orders booked on that day till 14th.
Number of orders lost that were booked on 12th = Cumulative orders lost till 14th-Cumulative orders lost till 13th =92-91=1
Similarly, the number of orders lost till 17th can be found out.

Number of orders delivered on 13th are 11 out of which 4 are orders which were'booked in 11th so, 7 must be the orders which were
booked on 12th.

Similarly, we can find the orders which took 1day and 2 days to get deliveredill 17th.

Date |Order Placed 1-day Delivery | 2-day Delivery Lost Delivery done on the date

11 4

12 14 7 5] 1

13 31 21 3 2 11

14 30 15 3 12 27

15 28 8 8 12 23

16 25 13 10 2 11

17 25 3 13 9 21

18 5 1 13

19 5 14

Now, total number of orders booked on 12th will be 7+64+1=14.

From the table we can determine that among-options, number of orders booked on 13th are maximum.
For 15 the delivery ratio = 8/8 = 1

For 16 the delivery ratio =13/10=1.3

For 13 the delivery ratio = 21/8 = 2.625

For 14 the delivery ratio=15/3 =5

Hence Option D

Question 3

On which of the following days was the number of orders booked the highest?

A 12th
B 15th
C 13th

D 14th

Answer: C
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Explanation:
The cumulative orders booked by 19th are 337 and that of 18th are 332=> No. orders booked on 19th are 5

Similarly we canfind the orders booked on that day till 14th.
Number of orders lost that were booked on 12th = Cumulative orders lost till 14th-Cumulative orders lost till 13th =92-91=1
Similarly, the number of orders lost till 17th can be found out.

Number of orders delivered on 13th are 11 out of which 4 are orders which were booked in 11th so, 7 must be the orders which were
booked on 12th.

Similarly, we can find the orders which took 1day and 2 days to get deliveredill 17th.

Date |Order Placed 1-day Delivery | 2-day Delivery Lost Delivery done on the date

11 4

12 14 7 5]

13 31 21 8 2 11
14 30 15 3 12 27
15 28 8 8 12 23
16 25 13 10 2 11
17 25 3 13 9 21
18 5 1 13
19 5 14

Now, total number of orders booked on 12th will be 7+6+1=14.
The total number of orders placed on 13th = 21+8+2 = 31

FRom the table we can determine that among.options, number of orders booked on 13th are maximum.
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Question 4

Among the following days, the largest fraction of orders booked on which day was lost?

A 15th
B 16th
C 13th

D 14th

Answer: A

Explanation:
The cumulative orders booked by.19th are 337 and that of 18th are 332=> No. orders booked on 19th are 5

Similarly we canfind the orders booked on that day till 14th.
Number of orders lost that were booked on 12th = Cumulative orders lost till 14th-Cumulative orders lost till 13th =92-91=1
Similarly, the number of orders lost till 17th can be found out.

Number of orders delivered on 13th are 11 out of which 4 are orders which were booked in 11th so, 7 must be the orders which were
booked on 12th.

Similarly, we can find the orders which took 1day and 2 days to get delivered till 17th.
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Date |Order Placed 1-day Delivery 2-day Delivery Lost Delivery done on the date

11 4

12 14 7 6

13 31 21 8 2 11
14 30 15 3 12 27
15 28 8 8 12 23
16 25 13 10 2 11
17 25 3 13 9 21
18 5 1 13
19 5 14

Now, total number of orders booked on 12th'will.be 7+6=1=14.
Fraction of orders booked on 15th that were lost = 12/28
Fraction of orders booked on 16th that were lost = 2/25
Fraction of orders booked on 13th that weredost =2/31
Fraction of orders booked on 14th that were lost = 8/30.

.. Option A is correct answer.

Instructions

In a certain board examination, students were to appear for examination in five subjects:

English, Hindi, Mathematics, Science and-Social Science. Due to a certain emergency situation, a few of the examinations could not be
conducted for some students! Hence, some students missed one examination and some others missed two examinations. Nobody
missed more than two examinations.

The board adopted the following policy for awarding marks to students. If a student appeared in all five examinations, then the marks
awarded in each of the examinations were on the basis of the scores obtained by them in those examinations.

If a student missed only one examination, then the marks awarded in that examination was the average of the best three among the four
scores in the examinations they-appeared for. If a student missed two examinations, then the marks awarded in each of these
examinations was the average of the best two among the three scores in the examinations they appeared for. The marks obtained by six
students in the examination are given in the table below. Each of them missed either one or two examinations.

English Hindi Mathematics | Science | Social Science
Alva 80 75 70 75 60
Bithi 90 80 55 85 85
Carl 75 80 90 100 90
Deep 70 90 100 a0 80
Esha 80 85 95 60 55
Foni 83 72 78 88 83

The following facts are also known.

I. Four of these students appeared in each of the English, Hindi, Science, andSocial Science examinations.

Il. The student who missed the Mathematics examination did not miss any other examination:

Ill. One of the students who missed the Hindi examination did not miss any/other examination. The other student who missed the Hindi
examination also missed the Science examination.

Question 5

For how many students can we be definite about which examinations they missed?

Answer:4

Explanation:

Based on Condition Il, we understand that the student who missed the Mathematics examination did not miss any other examination.
This indicates that the Maths score is bound to be the average-of the best 3 qut of the 4 exam scores obtained by this candidate. Based
on this inference, we can proceed with identifying the math score that can be represented as an average of the rest of the scores. We can
straightaway eliminate Deep and Esha as potential candidates, given that their Mathematics score is greater than the rest of the exam
scores. After estimating the average scores for the rest,of the candidates, we observe that only Carl has missed his Mathematics
examination.

For Carl: best 3 out of 4 - 80(Hindi), 90(Social Seience), 100(Seience)
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=

Avg. = 270/3 = 90 which matches the given value \..\i\_

~

. Carl missed his Mathematics examlnatlonﬁ)
/

Further, based on Condition Ill, we can surmi se that the student who missed Hindi and Science should have similar average scores in
these two subjects. We notice that Alva has the same score of 75 in both Hindi and Science. The same can be said about Deep, who has
a score of 90 in both these subjects. Thus 6 out of A/W and Deep missed out on Hindi and Science examination, while the second
individual missed out only on the Hindi exa 'n tion.- /

~——

Since we know that Carl, Alva and Deep are unlikely to have missed out on the English exam, we can divert our attention to determining
which individual out of Bithi, Esh aneL_Eonl failed to appear for this subject. However, we notice that Bithi's English score is greater than
the rest of her scores, thereby)ﬂ/aplnga éhmlnate her as the potential candidate.

For Esha: best 3 out of 4 - 85(Hindi /JS Mat)w}ematlcs 60(Science)
Avg. = 240/3 = 80 which matches th'e gwey?alue
*. Esha most likely ml{sled her English examination.
For Foni: best 3 out (%QQMathematics), 83(Social Science), 88(Science)
Avg. = 249/3 = 83 which maigh\eéﬁhe given value
. Foni most,lik%ly missed her English examination.
Based on C({I’tdltlon I, we know that exactly two candidates missed the examinations for English, Hindi, Science, and Social Science.

For English, égetermm *’these individuals to be Esha and Foni. For Hindi, we determined these individuals to be Alva and Deep. For
Science, we kn he individuals is either Alva or Deep. Given that Carl, Alva and Deep cannot be a part of the group that missed
Science or Social Science exam, we can proceed by carefully scrutinizing the rest of the group that includes Bithi, Esha and Foni.

We notice that Bithi has a similar score in both Science and Social Science examination. Assuming that she did miss these exams, let us
proceed to check if this was actually the case.

For Bithi: Best 2 out 3 - 90(English), 80(Hindi)

Avg = 170/2 = 85 which matches the given value

We additionally notice that Foni has a similar score in English and Social Science. idering'the best 2 out of 3 scores, the average
value of the score for both the subject holds (equal to 83). Thus, we c ‘Foni missed their Social Science

examination.
Thus, the students who missed just one exam were: Carl (Mathematiésa’;\ glish) and one out of Alva and Deep (Hindi).
Hence of the six students, we can correctly determine the missed subjects for

W em (except Alva and Deep)
Mathematics: Carl ; English: Esha & Foni ; Hindi: Alva & Deep; Sciezce: Bithi & one out of Alva and Deep ; Social Science: Foni & Bithi

Except for Alva and Deep, we can conclusively comment of the missed-st }N:%sof the rest four. Hence, the correct answer is 4.
Question 6 \

For how many students can we be definite about which examin\aﬁk the

Answer:4 /'

Explanation: Q \

Based on Condition I, we understand that the stude imissed the Mathematics examination did not miss any other examination.
This indicates that the Maths score is bound to be the ave f the best 3 out of the 4 exam scores obtained by this candidate. Based
on this inference, we can proceed with identifying the math score that can be represented as an average of the rest of the scores. We can
straightaway eliminate Deep and Esha as po é’]th’:ﬂ candidates, given that their Mathematics score is greater than the rest of the exam
scores. After estimating the average scor s{for the rest of the candidates, we observe that only Carl has missed his Mathematics

examination. /

Avg. = 270/3 = 90 which matches the given value

. Carl missed his Mathemaneﬁ;xa%@n

Further, based on Condition IIUwe c m sur hat the student who missed Hindi and Science should have similar average scores in
these two subjects. We notice that INa h e same score of 75 in both Hindi and Science. The same can be said about Deep, who has
a score of 90 in both these subjects'\T _/f/ne out of Alva and Deep missed out on Hindi and Science examination, while the second

)

For Carl: best 3 out of 4 - 80(Hindi), 90(SOC| 00(Science)
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individual missed out d'\nljy on the Hindi examination.

Since we know that C
which individual out of Bith
the rest of her scores thereby he

and Deep are unlikely to have missed out on the English exam, we can divert our attention to determining
and Foni failed to appear for this subject. However, we notice that Bithi's English score is greater than
ing us eliminate her as the potential candidate.

For Esha: be

{’3 out of 4 - 85(Hindi), 95(Mathematics), 60(Science)
Avg. = 240/ 80 which n}étches the given value
. Esha most ik eiymiss/;eﬂ her English examination.

For Foni: best 3 out of 4 - 78(Mathematics), 83(Social Science), 88(Science)
Avg. = 249/3 = 83 which matches the given value

*. Foni most likely missed her English examination.

Based on Condition |, we know that exactly two candidates missed the examin 16’ns or English, Hindi, Science, and Social Science.

For English, we determined these individuals to be Esha and Foni. For H|nd)/we det rmlne;i.theée individuals to be Alva and Deep. For
Science, we know one of the individuals is either Alva or Deep. Given tha CarI Alva’and; ot be a part of the group that missed
Science or Social Science exam, we can proceed by carefully scrutinizi rest fth roup t includes Bithi, Esha and Foni.

We notice that Bithi has a similar score in both Science and Social Scienc xammanor{ Assummg that she did miss these exams, let us
proceed to check if this was actually the case.

For Bithi: Best 2 out 3 - 90(English), 80(Hindi) &(
Avg = 170/2 = 85 which matches the given value
. Bithi is likely to have missed her Science and Social Science exad'mQatlons

We additionally notice that Foni has a similar score in English and SomaTSg:le{L\e. On considering the best 2 out of 3 scores, the average
value of the score for both the subject holds (equal to 83). Thus, we can congludé that Bithi and Foni missed their Social Science
examination. SRR

~ \-_/
Thus, the students who missed just one exam were: Carl (Mathemati‘cs);f_sh/a (English) and one out of Alva and Deep (Hindi).
Hence of the six students, we can correctly determine tl\"\' missed subjects for four of them (except Alva and Deep):
Mathematics: Carl ; English: Esha & Foni ; H @ €p; S_?,'E'lc? Bithi & one out of Alva and Deep ; Social Science: Foni & Bithi

Except for Alva and Deep, we can conclusively com bffﬁe missed subjects of the rest four. Hence, the correct answeris 4.

Q

Question 7

l, 7

What BEST can be concluded about the students who missed the Science examination?

/J
A Bithi and one out of Alva and Deep §i/'

B Alva and Bithi

s \
C Deep and Bithi t/ / N
U / T/
D Alva and Deep I /
Answer: A p
Explanation: N

Based on Condition Il, we \g“rstgnd that the student who missed the Mathematics examination did not miss any other examination.
This indicates that the Maths scoré is bound to be the average of the best 3 out of the 4 exam scores obtained by this candidate. Based
on this infere’m!';/é;,' we can proceed with identifying the math score that can be represented as an average of the rest of the scores. We can
straightawi{ liminate Deep and Esha as potential candidates, given that their Mathematics score is greater than the rest of the exam
scores. Aft Cstlmatlng th/b J/average scores for the rest of the candidates, we observe that only Carl has missed his Mathematics

examination! V

For Carl: best 3 0 - 80(Hindi), 90(Social Science), 100(Science)

Avg. = 270/3 = 90 which matches the given value
*. Carl missed his Mathematics examination.
Further, based on Condition I, we can surmise that the student who missed Hindi/aﬁﬁ Science should have similar average scores in
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individual missed out only on the Hindi examination.

these two subjects. We notice that Alva has the same score of 75 in both Hindi nd Science. The same can be said about Deep, who has
Since we know that Carl, Alva and Deep are unlikely to have missed out/on the En Ilsh
which individual out of Bithi, Esha and Foni failed to appear for this su Jec ever

a score of 90 in both these subjects. Thus, one out of Alva and Deep missedut on Hindi amj‘,s%ance examination, while the second

am, we'can divert our attention to determining
that Bithi's English score is greater than
the rest of her scores, thereby helping us eliminate her as the potentl date

For Esha: best 3 out of 4 - 85(Hindi), 95(Mathematics), 60(Science) ,
Avg. = 240/3 = 80 which matches the given value

*. Esha most likely missed her English examination.

For Foni: best 3 out of 4 - 78(Mathematics), 83(Social Science), 88( CIéﬂQ
Avg. = 249/3 = 83 which matches the given value

*. Foni most likely missed her English examination.

Based on Condition |, we know that exactly two candida es missed the examinations for English, Hindi, Science, and Social Science.

For English, we determined these individuals be Esha d Foni. For Hindi, we determined these individuals to be Alva and Deep. For
Science, we know one of the individuals is el a or ;g.GweEl;hat Carl, Alva and Deep cannot be a part of the group that missed
Science or Social Science exam, we can procee |y‘scrut|n|2|ng the rest of the group that includes Bithi, Esha and Foni.

We notice that Bithi has a similar score in both Science an?iﬁg\' | Science examination. Assuming that she did miss these exams, let us
proceed to check if this was actually the cases,

For Bithi: Best 2 out 3 - 90(English), 80(Hi 5
Avg = 170/2 = 85 which matches the give )qalue
*. Bithi is likely to have missed her Science aJ/S/lence examinations.

We additionally notice that Foni has a similar score in English and Social Science. On considering the best 2 out of 3 scores, the average
value of the score for both the bJEEf‘hQHS (equal to 83). Thus, we can conclude that Bithi and Foni missed their Social Science
examination. Z’f’/ / “‘\

J

/
Thus, the students who mlsseé Just/é(ne exa)';' were: Carl (Mathematics); Esha (English) and one out of Alva and Deep (Hindi).
Hence of the six students, we can cc\h'r.ej&f’éetermlne the missed subjects for four of them (except Alva and Deep):
Mathematics: Carl ; Enéﬁsh Esha & Foni ; Hindi: Alva & Deep; Science: Bithi & one out of Alva and Deep ; Social Science: Foni & Bithi
Hence, the correct anwe\\tqthls question is Option A: Bithi & one out of Alva and Deep.
Question 8 ‘:::;
What BEST ca:}%e concluded about the students who missed the Science examination?
(.
A Bithi and\%e out of%fand Deep

e

i
B Alva and Bithi

C Deep and Bithi

D Alvaand Deep A
Answer: A

Explanation: V=

Based on Condition Il, we understand that the student who missed the Mathematics e>{ ination/did not miss any other examination.

This indicates that the Maths score is bound to be the average of the best 3/ou fthe v'scores obtained by this candidate. Based
on this inference, we can proceed with identifying the math score that/ca repr. as an average of the rest of the scores. We can
straightaway eliminate Deep and Esha as potential candidates, glverzéhpat their thema ics score is greater than the rest of the exam
scores. After estimating the average scores for the rest of the candi S\, erve that only Carl has missed his Mathematics
examination.

For Carl: best 3 out of 4 - 80(Hindi), 90(Social Science), 100(Scien08 \j
Avg. = 270/3 = 90 which matches the given value \“\\ X
~
*. Carl missed his Mathematics examination. \“
& \
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Further, based on Condition Ill, we can surmise that the studen\t\vq issed/Hindi and Science should have similar average scores in
these two subjects. We notice that Alva has the same score of 75 in indi and Science. The same can be said about Deep, who has
a score of 90 in both these subjects. Thus, one out of AJ a and Deep missed out on Hindi and Science examination, while the second
individual missed out only on the Hindi examlnatlon

Since we know that Carl, Alva and Deep are un m
which individual out of Bithi, Esha and Foni failed to

the rest of her scores, thereby helping us eliminate her as

out on the English exam, we can divert our attention to determining
f for this subject. However, we notice that Bithi's English score is greater than
tential candidate.

For Esha: best 3 out of 4 - 85(Hindi), 95(Matbé)snat|cs) 60(Science)
Avg. = 240/3 = 80 which matches the give, /Value

. Esha most likely missed her English ex

ination. /
For Foni: best 3 out of 4 - 78(Mathematics), 8 cience), 88(Science)
Avg. = 249/3 = 83 which matches the given value

. Foni most likely missed heMs{h examination.

Based on Condition I, we knO\;vfthat éf(actlyl) o} candldates missed the examinations for English, Hindi, Science, and Social Science.

For English, we determined these méhv\“d_trjls’to be Esha and Foni. For Hindi, we determined these individuals to be Alva and Deep. For
Science, we know one Q)’f?the individuals is either Alva or Deep. Given that Carl, Alva and Deep cannot be a part of the group that missed
Science or Social Smg{\pe exam, we can proceed by carefully scrutinizing the rest of the group that includes Bithi, Esha and Foni.

We notice that Bithi has ilar score in both Science and Social Science examination. Assuming that she did miss these exams, let us
proceed to check if this was a ly the case.

For Bithi: Best'2/0ut 3 - 90(English), 80(Hindi)
Avg = ‘I70/ 85 which martches the given value

. Bithiis Ilk\@z:e/rms’sed her Science and Social Science examinations.

We additionally no ﬂgt Foni has a similar score in English and Social Science. On considering the best 2 out of 3 scores, the average
value of the score for both the subject holds (equal to 83). Thus, we can conclude that Bithi and Foni missed their Social Science
examination.

Thus, the students who missed just one exam were: Carl (Mathematics); Esha (English) and one out of Alva and Deep (Hindi).
Hence of the six students, we can correctly determine the missed subjects for four of them (except Alva and Deep):

Mathematics: Carl ; English: Esha & Foni ; Hindi: Alva & Deep; Science: Blth one out of Alva and Deep ; Social Science: Foni & Bithi

Hence, the correct answer to this question is Option A: Bithi & one out of AI and ee?’/
Question 9 {

Which students did not appear for the English examination?
A Carl and Deep Q

B Cannot be determined

C Alva and Bithi

D Eshaand Foni
Answer: D -//

F i
Explanation: & \ x
Based on Condition Il, we understand that thé‘”stu tw missed_‘_ttjé Mathematics examination did not miss any other examination.
This indicates that the Maths score is bound to be the av ra‘g'é"(_)_f_the best 3 out of the 4 exam scores obtained by this candidate. Based
on this inference, we can proceed with identifying the mé"th,té::co e that can be represented as an average of the rest of the scores. We can
straightaway eliminate Deep and Esha as potential candidate&éven that their Mathematics score is greater than the rest of the exam
scores. After estimating the average scores«f& the rest of the candidates, we observe that only Carl has missed his Mathematics
examination. //

: f
For Carl: best 3 out of 4 - 80(Hindi), 90(So i%cience),yb(Science)
.

Avg. = 270/3 = 90 which matches the given value=—"
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.". Carl missed his Mathematics examination.

—— S
Further, based on Condition Ill; we ca,ﬁ,éhﬁkﬁjrse that the student who missed Hindi and Science should have similar average scores in
these two subjects. We notice that A/I%a has}gt same score of 75 in both Hindi and Science. The same can be said about Deep, who has
a score of 90 in both these subject s, one out of Alva and Deep missed out on Hindi and Science examination, while the second

individual missed out only on the Hindi ination.

Since we know that Ca I,':IIAIva and Deep are unlikely to have missed out on the English exam, we can divert our attention to determining
which individual out %f&&Esha and Foni failed to appear for this subject. However, we notice that Bithi's English score is greater than
the rest of her scores, the Mping us eliminate her as the potential candidate.

Lty

For Esha: best 3 out of 4 - 85(I—]?ﬁ&), 95(Mathematics), 60(Science)
&7

Avg. = 240/3/#'80 which matches the given value

.". Eshamo tL.liker missedl)ﬁer English examination.

For Foni: best 8(Mathematics), 83(Social Science), 88(Science)

Avg. = 249/3 = 83 which matches the given value
.". Foni most likely missed her English examination.
Based on Condition I, we know that exactly two candidates missed the examinatiyff r English, Hindi, Science, and Social Science.

For English, we determined these individuals to be Esha and Foni. For Hindi, we.determined these individuals to be Alva and Deep. For

Science, we know one of the individuals is either Alva or Deep. Given that Carl, Alva and Deep cannot be a part of the group that missed

Science or Social Science exam, we can proceed by carefully scrutinizing.the rest o thg?rggtx at includes Bithi, Esha and Foni.

We notice that Bithi has a similar score in both Science and Social Science/exami atiol[@.@ g that she did miss these exams, let us
/

proceed to check if this was actually the case.

For Bithi: Best 2 out 3 - 90(English), 80(Hindi)

———r
Avg = 170/2 = 85 which matches the given value \//\\4\ Q
.. Bithi is likely to have missed her Science and Social Science examinations. \)\

We additionally notice that Foni has a similar score in English and {%@;ience. On considering the best 2 out of 3 scores, the average
value of the score for both the subject holds (equal to 83). Thus, we can.¢ ncl%de that Bithi and Foni missed their Social Science
examination.

™~

Thus, the students who missed just one exam were: Carl (Ma{he\t’b (English) and one out of Alva and Deep (Hindi).

Hence of the six students, we can correctly determine the missed subjeets-for four of them (except Alva and Deep):

Mathematics: Carl ; English: Esha & Foni ; Hindi: Alva &\{ eep; Science: Bithi & one out of Alva and Deep ; Social Science: Foni & Bithi

Hence, the correct answer to this question |w

10 MAHCET Mocks - Just Rs. 499
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Question 10 £/

Who among the following did not appear tﬁ'the Mathenﬁtics examination?

\::,’/

A Alva
B Carl o
4
."i { / -"r\::\\\
C Foni ] /
{

\) )\/
D Esha :“:/J

Answer: B 1

\
Explanation: x\

S
Based on Condition II, we un&é‘rsta‘hd that the student who missed the Mathematics examination did not miss any other examination.
This indicateg,tﬁat the Maths score is bound to be the average of the best 3 out of the 4 exam scores obtained by this candidate. Based

on this inference, we can proceed with identifying the math score that can be represented as an average of the rest of the scores. We can
straightawag liminate De?pl;and Esha as potential candidates, given that their Mathematics score is greater than the rest of the exam

A
scores. N /
\ - /;’j

o=
=2
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For Alva: best 3-out of 4-80(English), 75(Hindi), 75(Science)

Avg. = 230/3 = 76.67 £ 70

For Carl: best 3 out of 4 - 80(Hindi), 90(Social Science), 100(Science)

Avg. = 270/3 = 90 which matches the given value

.". Carl most likely missed his Mathematics examination.

For Foni: best 3 out of 4 - 83(English), 83(Social Science), 88(Science)

Avg. = 254/3 = 84.67 £ 78

Hence, we observe that only Carl has missed his Mathematics examination/Hence, Option-B-is'the correct answer.
Question 11 ;

Who among the following did not appear for the Mathematics examination?

A Alva
B Carl
C Foni

D Esha

Answer: B

Explanation:

Based on Condition I, we understand that the student who missed the Mathematics examination did not miss any other examination.
This indicates that the Maths score is bound 1o be the average of the best 3 out of the 4 exam scores obtained by this candidate. Based
on this inference, we can proceed with identifying the math score that can be represented as an average of the rest of the scores. We can
straightaway eliminate Deep and Esha as potential candidates, given that their Mathematics score is greater than the rest of the exam
scores.

For Alva: best 3 out of 4 - 80(English), 75(Hindi);75(Science)

Avg. = 230/3 = 76.67 £ 70

For Carl: best 3 out of 4 - 80(Hind4), 98(Social Science), 100(Science)

Avg. = 270/3 = 90 which matches the/givenvalue

.". Carl most likely missed his Mathematics examination.

For Foni: best 3 out of 4 783(English), 83(Social Science), 88(Science)

Avg. = 254/3 = 84.67°4£ 78

Hence, we observe that only €arl-has missed his Mathematics examination. Hence, Option B is the correct answer.
Instructions

Answer the questions with the given information and the data.

The following table gives pumber of T-Shirts sold (in thousand units) in Delhi and Mumbai. The T-Shirts are sold in different styles (S1, S2,
S3, and S4) with different colours as shown in the table.

Colour Delhi Style Mumbai Style
S1 52 53 54 51 52 53 54
Pink 61 60 69 55 65 95 66 02
Red 76 70 70 95 76 89 65 81
Green 71 89 02 65 61 70 60 72
Yellow 50 63 76 o4 69 60 69 66
Blue o8 99 54 82 o4 64 75 74
White 61 74 75 54 02 89 85 72
Black 20 51 76 51 86 93 04 97
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Question 12 \’\S‘j\”y
Which style T-Shirt has highest difference in numberof units soldwtwo ities of Delhi and Mumbai?

A S1
B S2
\—
C S3 A
s \\
Answer: D \
o
Explanation:
S1-Delhi=507 ; S1-Mumbai =543 / Difference = 36
S2-Delhi = 506 ; S2 - Mumbai=560

QDifference 4
S3-Delhi=515  ;S3-Mumbai=154 ;Differencé~ 1

S4-Delhi=496  :S4-Mumbai= 554 : Difference = 58.

swer:
70
T fe a MAH-MBA CET Mocks Here

The average sales of "Qh colour T-Shirt sold is same in both the cities ?

Option D, S4 is the correct an

Question 13 >

J
A Yellow .
N
&
B Blue /’
7]
C Black v
N
D Red
Answer: D

Explanation:

Yellow - Delhi : 70.75 ; Yellow - Mumbai : 66.

Blue - Delhi :83.25 ;. Blue-Mumbai :76.75

Black - Delhi :67 ; Black - Mumbai :92.5 / B

Red - Delhi :77.75 ; Red-Mumbai :77.75. Q

Red has same average sales in both cities B

Instructions

After receiving the disturbing news of falling standards the Supreme Counc (o] ation of five Kingdoms is considering to conduct

joint entrance examination for all student in these kingdoms for Vaidya Ratna course. As a first step, it has been decided to review the
past five years data about the individual entrance examination of t ingdoms so that an appropriate action can be taken. Study the
table given below and answer the questions. \

A\
NG
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Anga Banga Chedi | Dwarka | Gandhar
2012 Appeared | 5000 4000 2600 6000 4500
Passed 850 640 468 780 765
2013 Appeared | 5500 4500 2500 8000 3500
Passed 770 810 275 1120 595
2014 Appeared | 6000 6500 1900 6500 4500
Passed 1200 1235 266 715 810
2015 Appeared | 5000 5500 2500 5500 4000
Passed 750 880 275 935 520
2016 Appeared | 7000 6000 2000 7000 6000
Passed 1190 660 400 1330 1200
Question 14

Highest number. of candidates passed are from which of the following kingdoms for all the years together?

A Anga
B Banga
C Gandhar

D Dwarka

Answer: D

Explanation:
Total no of candidates passed from Anga Kingdoms for all years = 850+770+1200#+750+1190 =4760

Total no of candidates passed from Banga Kingdoms for all years = 640+810+1235+880+660.= 4225
Total no of candidates passed from Gandhar Kingdoms for all years =/765+595+810+520+1200 = 3890
Total no of candidates passed from Dwarka Kingdoms for all years = 780+1 1204715+935+1330 = 4880
Hence, Dwarka is the kingdom with highest number of candidates passed.

Question 15

What is the overall pass percentage of all the kingdoms in the year 2013?

A 13.88
B 14.88
C 15.88

D 16.88

Answer: B

Explanation:
Total no of students passed in 2013 = 770+810+275+1120+595 = 3570

Total no of students appeared in 2013 = 5500+4500+2500+8000+3500 = 24000
Overall pass percentage of all kingdoms in 2013 = (Total no of students passed in 2013 / Total no of students appeared in 2013) *100
= (3570/24000)*100
* =14.87%5 = 14.88 (Rounded off)

Take TISSNET Mock Tests
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Question 16 %

What is the ove}'gll pass percentage of all the kingdoms in the year 2013?

B 14.88
C 1588

D 16.88

Answer: B

Explanation:
Total no of students passed in 2013 = 770+810+275+1120+595 = 3570

Total no of students appeared in 2013 = 5500+4500+2500+8000+350
Overall pass percentage of all kingdoms in 2013 = (Total no of students Total no of students appeared in 2013) *100
= (3570/24000)*100
=14.875 = 14.88 (Rounded off)

Question 17

What is the overall pass percentage of all the kingdoms in the year 20

A 1388
B 14.88 y

C 1588 \

D 16.88

Answer: B

Explanation:

Total no of students passed in 2013 = 770+810+275+11

Total no of students appeared in 2013 = 5500+ 0+8000+3500 = 24000

Overall pass percentage of all klngdoms in 2013 = (Total no of students passed in 2013 / Total no of students appeared in 2013) *100
3570/24000 *100
= 14.88 (Rounded off)

What is the overall pasﬁpercentage from Anga Kingdom for all the years together?

A 167 \

B 17.5 /?

C 187 ( /ﬂ
D 15.5 3

Answer: A

Question 18

Explanation:
Pass Percentage = ( No of students who passed the examination / No of students who appeared for the examination)*100

=(850+770+1200+750+1190/5000+5500+6000+5000+7000)*100
- *
(4760/28500)*100 -
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=16.7
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Instructions

Read the following information on ‘Sectoral Trends in Mergers & Acquisitions in India’(2001-02 to 2006-07)’ given in Tables below and
answer the questions.

Table: Sector wise Number of ‘Mergers & Acquisitions’

Sectors 2001-02 | 2002-03 | 2003-04 | 2004-05 | 2005-06 | 2006-07
Food & Beverage 113 77 77 74 63 61
Textile 57 59 59 64 77 55
Chemicals 134 98 112 99 79 62
Drugs & Pharma 64 60 44 50 60 72
Cement 11 7 8 22 0 0
IT & Telecom 153 114 84 80 109 103
Diversified 15 8 13 4 7 5
Financial Services 194 201 160 116 193 177
Other Services 297 280 287 281 271 293
Misc Manufacturing 31 36 31 35 35 24
Non Metallic Mineral 32 24 27 27 a7 34
Products

Table: Sector wise Number of ‘Mergers’

Sectors 2001-02 | 2002-03 | 2003-04 | 2004-05 | 2005-06 | 2006-07
Food & Beverage 17 23 10 19 20 8
Textile 7 7 8 11 21 23
Chemicals 27 15 12 23 24 15
Drugs & Pharma 6 17 14 10 15 12
Cement 0 2 1 3 0 0
IT & Telecom 19 19 13 16 17 12
Diversified 1 0 1 0 0 0
Financial Services 91 107 87 41 75 51
Other Services 90 92 105 81 61 83
Misc Manufacturing 3 13 0 4 11 3
Non Metallic Mineral 3 5 1 5 8 11

Products
Question 19

In which year maximum sectors have exhibited higher number of acquisitions compared to previous year?

A 2003-04

B 2004-05
C 2005-06

D 2006-07
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Answer: C

Question 20

In which year maximum sectors have exhibited highéf"ndmber of acquisitions compared to previous year?

A 2003-04
B 2004-05
C 2005-06
D 2006-07 P
Answer: C i
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